
3896   Interlinear Index Study

3896  ACT 020 016 For Paul <3972 -Paulos -> had determined <2919
-krino -> to sail <{3896} -parapleo -> by Ephesus <2181 -Ephesos
-> ,  because <3704 -hopos -> he would <1096 -ginomai -> not
spend <5551 -chronotribeo -> the time <5551 -chronotribeo -> in
Asia <0773 -Asia -> :  for he hasted <4692 -speudo -> ,  if
<1487 -ei -> it were possible <1415 -dunatos -> for him ,  to be
at <1519 -eis -> Jerusalem <2414 -Hierosoluma -> the day <2250 -
hemera -> of Pentecost <4005 -pentekoste -> .
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